E BARRACUDA

LEGEND
ASSEMBLING INSTRUCTION
1. CRASH PAD HEAD 4. RIGHT BASE CRASH PAD
TESTA TAMPONE BASE TAMPONE DESTRA
CRASH PAD FITTING CABEZA CRASH PAD BASE CRASH PAD DERECHA
KOPF CRASH PAD BASE CRASH PAD RICHTIG
TETE DE CRASH PAD BASE CRASH PAD DROIT
YT7101 2. LEFT BASE CRASH PAD 6. HEXHEAD SCREW M12X80
VITE TESTA ESAGONALE M12X80

BASE TAMPONE SINISTRA
BASE CRASH PAD IZQUIERDA TORNILLO DE CABEZA HEXAGONAL M12X80

BASE CRASH PAD LINKS SECHSKANTSCHRAUBE M12X80
WWW._.BARRACUDAMOTO.COM BASE CRASH PAD GAUCHE VIS A TETE HEXAGONALE M12X80

3. SOCKET HEAD SCREW M12X130
BRUGOLA TESTA CILINDRICA M12X130
TORNILLO DE CABEZA HUECA M12X130
INNENSECHSKANTSCHRAUBE M12X130
VIS A METAUX TETE CYLINDRIQUE M12X130

LEFT SIDE RIGHT SIDE

EN: Loosen the screw on the fairing
before mounting the crash pad kit
IT: Allentare la vite sulla carena prima
di montare il kit tamponi
ES: Afloje el tornillo del carenado antes
de montar el kit de almohadilla antichoque
DE: Ldsen Sie die Schraube an der Motorradverkleidung,
bevor Sie die Crash-Pads einbauen

FR: Desserrez la vis du carénage avant
d'installer les tampons de protection

/<ORIGINAL

SPACER




